PLANT ENTERPRISES PRODUCTION

_	Number of		Yield per		Total	Units of	Gross Farm
Crop	Producers	Acres	Acre		Production	Measure	Value
FORESTRY							
Pulpwood							
Hardwood					29	cords	
Pulpwood (Total)					29		
Saw Timber							
Hardwood					2,718	board feet	
Saw Timber (Total)					2,718		
Total Pulpwood, Chip & Saw,	,						\$3,126
Saw Timber FOB Mill							
Total Forestry Stumpage							\$1,449
Forestry (Total)							\$3,126
FRUITS							
Citrus							
Navels	200	750.0	450.00		337,500	bu.	\$4,725,000
Satsumas	200	275.0	650.00		178,750	bu.	\$1,787,500
Other Citrus	200	25.0	350.00		8,750	bu.	\$70,000
Citrus (Total)		1,050.0					\$6,582,500
Fruits (Total)		1,050.0					\$6,582,500
GREENHOUSE VEGETABLE	ES						
Tomatoes	*	5,760.0	6.00	Yield / sq. ft.	34,560	lbs.	\$46,656
Greenhouse Vegetables (Total)		5,760.0					\$46,656
HOME GARDENS	3,500						\$1,050,000
NURSERY CROPS							
Fruit and Nut Trees	20					acre	\$2,500,000
Floraculture & Bedding	10					acre	\$1,500,000
Plants							
Woody Ornamentals	20					acre	\$500,000
Foliage Plants	10					acre	\$500,000
							Page 1 of 5

PLANT ENTERPRISES PRODUCTION

_	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
Nursery Crops (Total)						\$5,000,000
PECANS						
Improved	6	10.0	500.00	5,000	lbs.	\$5,750
Native	10	15.0	300.00	4,500	lbs.	\$2,700
Pecans (Total)		25.0				\$8,450
VEGETABLES						
Cabbage						
Fresh	10	35.0	600.00	21,000	sacks (50 lbs.)	\$147,000
Cabbage (Total)		35.0				\$147,000
Cauliflower	10	12.0	400.00	4,800	cartons (20	\$72,000
					lbs.)	
Collards						
Fresh	7	2.0	600.00	1,200	doz. bunches	\$8,400
Collards (Total)		2.0				\$8,400
Cucumber						
Fresh	40	75.0	325.00	24,375	bu. (50 lbs.)	\$243,750
Cucumber (Total)		75.0				\$243,750
Eggplant	20	30.0	655.00		bu. (33 lbs.)	\$294,750
Mirliton	20	6.0	2,000.00	12,000		\$18,000
Mustard (Fresh)	50	60.0	600.00		doz. bunches	\$252,000
Okra (Fresh)	10	5.0	325.00	1,625	bu.	\$32,500
Peppers						
Bell	20	10.0	650.00	6,500	bu. (28 lb.)	\$97,500
Peppers (Total)		10.0				\$97,500
Squash (Fresh)						
Yellow Squash	15	12.0	325.00		bu. (45 lbs.)	\$46,800
Zucchini Squash	10	3.0	275.00	825	bu. (45 lbs.)	\$8,250
Squash (Fresh) (Total)		15.0				\$55,050

PLANT ENTERPRISES PRODUCTION

Crop	Number of Producers	Acres	Yield per Acre	Total Units of Production Measure	Gross Farm Value
VEGETABLES					
Tomatoes (Field)	50	150.0	1,980.00	297,000 lugs (20 lbs.)	\$4,455,000
Turnips (Fresh)	10	25.0	600.00	15,000 doz. bunches	\$105,000
Vegetables (Total)		425.0			\$5,780,950
TOTAL ALL PLANT EN	TERPRISES				\$18,471,682

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of	Units of	Total	Units of	Gross Farm
risheries	Producers	Production	Production	Measure	Value
AQUACULTURE					
Alligators (Farm)			132	ft.	\$2,254
Oysters	264		38,619	sacks	\$656,523
Soft-shell Crabs	*		10,000	doz	\$200,000
Aquaculture (Total)					\$858,777
FRESHWATER FISHERIES					
Catfish (Wild)	28		91,273	lbs.	\$42,624
Gar	28		44,320	lbs	\$40,863
Freshwater Fisheries (Total)					\$83,488
MARINE FISHERIES					
Shrimp	890		17,639,205	lbs.	\$21,096,489
Menhaden	10		232,039,000	lbs.	\$8,817,482
Crabs	216		166,770	lbs.	\$107,066
Commercial Finfish	436		4,269,932	lbs.	\$6,814,811
Marine Fisheries (Total)					\$36,835,849
FUR ANIMALS			1,295	pelts	\$6,864
ALLIGATORS (WILD)			15,262	ft.	\$335,775
TOTAL ALL FISHERIES & V	WILDLIFE ENTERPR	ISES			\$38,120,752

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of	Units of	Total	Units of	Gross Farm
	Producers	Production	Production	Measure	Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.				head	\$36,337
400-500 lbs.				head	\$83,601
500-600 lbs.				head	\$36,758
600-700 lbs.			50	head	\$26,000
Steer Calves (Total)					\$182,696
Heifer Calves					
300-400 lbs.				head	\$32,011
400-500 lbs.				head	\$75,393
500-600 lbs.				head	\$85,184
600-700 lbs.			250	head	\$121,875
Heifer Calves (Total)					\$314,463
Yearling Cattle					
600-700 lbs.				head	\$182,000
700-800 lbs.			400	head	\$225,000
Yearling Cattle (Total)					\$407,000
Cow-Calf Pairs			200	pair	\$144,000
Cull Cows			150	head	\$49,534
Cull Bulls			50	head	\$36,525
Cattle & Calves (Total)	60	No. Cows			\$1,134,217
HORSES					
Brood Mares					
Show Horses	*	30 No. Brood Mares	15	head	\$45,000
Brood Mares (Total)					\$45,000
Show Horses	10		30	head	\$120,000
Recreation Horses	45		150	head	\$150,000
Horses (Total)					\$315,000
TOTAL ALL ANIMAL EN	TERPRISES				\$1,449,217